

Washroom issues?





Reduce blockages

Reduce mess

Reduce usage





Toilet blockages

Blockages to toilets are not only frustrating, they can be expensive when plumbers and maintenance staff need to be called.

Causes of toilet blockages **How Tork helps Recommended Tork products** Flushing hand towel - Tork® Flushable Hand Towel down toilets breaks up in water as it has no wet strength agent - Reduces maintenance cost and toilet closures as it's less likely to block toilets when flushed Lining toilet seats with toilet - Tork Toilet Seat Cleaner is a quick paper for hygiene reasons and safe alternative to lining toilet seats with paper - Tork Toilet Seat Cleaner is applied with a sheet of toilet paper - It contains 30% alcohol therefore providing a sanitised surface **Excessive toilet paper** - Tork SmartOne® dispenses one **T9** being used sheet at a time reducing the amount of toilet paper taken and flushed - Up to 40% reduction in consumption (vs. 2 ply Jumbo) - Single sheet dispensing allows for an easier flush

These recommended Tork products can help solve your washroom issues

Tork	Dispensers							
Article number	Dispensers	Dispenser range	System	Colour	Material	Capacity	Size H x W x D (mm)	Per case
551000	Tork Matic Hand Towel Roll Dispenser	Elevation	H1	White	Plastic	1111	372 x 337 x 203	1
551008	Tork Matic Hand Towel Roll Dispenser	Elevation	H1	Black	Plastic	***	372 x 337 x 203	1
552030	Tork Xpress Multifold Hand Towel Dispenser	Elevation	H2	White	Plastic	***	444 x 302 x 102	1
552038	Tork Xpress Multifold Hand Towel Dispenser	Elevation	H2	Black	Plastic	***	444 x 302 x 102	1
553000	Tork Singlefold Hand Towel Dispenser	Elevation	НЗ	White	Plastic	1111	439 x 333 x 136	1
553008	Tork Singlefold Hand Towel Dispenser	Elevation	НЗ	Black	Plastic	***	439 x 333 x 136	1
555500	Tork Twin Mini Jumbo Toilet Roll Dispenser	Elevation	T2	White	Plastic	***	256 x 432 x 146	1
555508	Tork Twin Mini Jumbo Toilet Roll Dispenser	Elevation	T2	Black	Plastic	***	256 x 432 x 146	1
681000	Tork SmartOne Mini Toilet Roll Dispenser	Elevation	Т9	White	Plastic	f	219 x 219 x 156	1
681008	Tork SmartOne Mini Toilet Roll Dispenser	Elevation	Т9	Black	Plastic	(11)	219 x 219 x 156	1
472026	Tork SmartOne Mini Toilet Roll Dispenser	Wave	Т9	White	Plastic	•	226 x 226 x 173	1
472028	Tork SmartOne Twin Mini Toilet Roll Dispenser	Wave	Т9	White	Plastic	***	230 x 402 x 173	1
560000	Tork Liquid Soap Dispenser	Elevation	S1	White	Plastic	***	291 x 112 x 114	1
560008	Tork Liquid Soap Dispenser	Elevation	S1	Black	Plastic	***	291 x 112 x 114	1
561000	Tork Mini Liquid Soap Dispenser	Elevation	S2	White	Plastic		206 x 112 x 114	1
561008	Tork Mini Liquid Soap Dispenser	Elevation	S2	Black	Plastic		206 x 112 x 114	1
561500	Tork Foam Soap Dispenser	Elevation	S4	White	Plastic	***	286 x 113 x 105	1
561508	Tork Foam Soap Dispenser	Elevation	S4	Black	Plastic	111	286 x 113 x 105	1
563000	Tork Bin	Elevation	B1	White	Plastic	111	629 x 389 x 289	1
563008	Tork Bin	Elevation	B1	Black	Plastic	***	629 x 389 x 289	1
562000	Tork Air Freshener Spray Dispenser	Elevation	A1	White	Plastic	***	174 x 97 x 60	1

Tork Hand Towel & Toilet Paper Refills													
Article number	Refills	System	Colour	Quality level	Ply	Size L x W	Sheets /pack	Packs /case	Sheets /case	Material	FSC certified	Other certs	Easy Handling
290059	Tork Matic Extra Long Hand Towel Roll	H1	White	Universal	1	280m x 21cm	1,142	6	6,852	Virgin	•	HACCP	•
129089	Tork Xpress Flushable Multifold Hand Towel	H2	White	Advanced	2	24cm x 21cm	200	21	4,200	Virgin	•	EU Ecolabel	•
290190	Tork Flushable Singlefold Hand Towel	НЗ	White	Advanced	2	23cm x 23cm	250	15	3,750	Virgin	•	HACCP EU Ecolabel	•
2306897	Tork Mini Jumbo Toilet Roll	T2	White	Universal	1	400m x 9cm	400	12	4,800	Virgin	•	Environmental Choice NZ	•
472193	Tork SmartOne Mini Toilet Roll	Т9	White	Advanced	2	18cm x 13.4cm	620	12	7,440	Virgin	•	EU Ecolabel	•

Tork Toilet Seat Sanitiser, Soap & Air Freshener Refills											
Article number	Refills	System	Colour	Scent	Quality level	mL per refill	Doses per refill	Refills per case	mL per case	Cert. type	
420810	Tork Extra Hygiene Liquid Soap	S1	Clear	Nil	Premium	1,000	1,000	6	6,000	HACCP	
420302	Tork Toilet Seat Cleaner	S2	Clear	Nil	Premium	475	475	8	3,800	ProDerm	
520501	Tork Mild Foam Soap	S4	Cream	Mild	Premium	1,000	2,500	6	6,000	ProDerm	
520801	Tork Antimicrobial Foam Soap	S4	Clear	Mild	Premium	1,000	2,500	6	6,000	ProDerm	
236056	Tork Mixed Pack Air Freshener Spray	A1		Citrus/Fruit /Floral	Premium	75	3,000	12	900		



Washroom mess

Messy washrooms are unsightly and uninviting. They can affect your reputation, but can often be easily fixed.

Causes of washroom mess **How Tork helps Recommended Tork products** - Tork S1 and S4 refill cartridges Soap leaks come complete with the pump mechanism which is changed with each refill, preventing it from wearing out and leaking - Both dispense without messy drips **Overflowing bins** - Tork Matic® Hand Towel dispensers are designed to reduce consumption and waste - Smaller sheet size reduces waste - High capacity 50L bin **Vandalism** - Robust Tork SmartOne Wave design dispenser is tamper-proof and fire-retardant - Fully enclosed dispenser, so no foreign objects can be inserted Tabs of toilet paper - Tork SmartOne dispenses **T9** on the floor one toilet paper sheet at a time, cleanly without tabbing - The unique dispensing mechanism minimises paper tearing



Excessive usage

Hygiene refills become expensive when there is excessive consumption. Tork dispensers are designed to reduce usage, waste and prevent pilferage.

Causes of excessive usage

How Tork helps

Recommended Tork products

Over consumption

- Tork SmartOne dispenses one toilet paper sheet at a time, reducing amount of paper used
- Tork Matic Hand Towel dispensers with autocut mechanism and one-at-a-time dispensing encourage less usage and reduce consumption









Waste

- Tork T2 twin toilet paper dispensers have a stub roll feature that allows every last sheet to be used
- Tork SmartOne features SmartCore refills which have no roll to clean up









Dosage

- Low 0.4ml Tork Foam Soap dosage
- More washes per cartridge compared to liquid soap
- Less soap needed for a thorough wash





Theft

- Lockable dispensers prevent pilferage
- One universal key across all Tork dispensers for easy maintenance







Washroom smells?

Try Tork Air Freshener in citrus, tropical fruit or floral fragrances. It actively neutralises odours to leave your washroom smelling fresh.





For more information visit tork.com.au or tork.co.nz or contact your Tork Representative



Australia

Sales & Support Centre
Free phone 1800 643 634
PO Box 1580
Clayton South, Victoria 3169
customerservice@asaleocare.com

New Zealand

Sales & Support Centre Free phone 0800 523 565 Private Bag 93-100 Henderson, Waitakere 0650 customerservice@asaleocare.com